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Speciation webquest

Click on this link (http://evolution.berkeley.edu/evolibrary/article/0_0_0/evo_40) to answer the questions on this page. Print it off when you are finished and turn it in before class is over and remember-NO COPYING AND PASTING!
1. Define “species”.

2. Do organisms have to look identical in order to be the same species?

3. Why isn’t the simplified definition of a species from question #1 100% accurate?

a. Give an example of a type of organism that is an exception.

4. Define “speciation”.

5. In the story of the fruit flies, what initial event caused the fruit flies to be separated?

6. What causes the mainland population of fruit flies to start to become different from the island fruit flies?

7. Once the island fruit flies reunite with the mainland fruit flies, give 2 reasons why they won’t/can’t interbreed.

8. What is the term we use for what caused this speciation event?

9. Give 4 examples of what can cause your answer to #8 to occur.

10. What else can cause speciation to occur (other than geographic isolation)?

11. Define “incipient species”.

12. Define “allopatry”.

13. In any speciation event, what is absolutely necessary for speciation to occur?

14. List the 3 ways in which reproductive isolation can occur.

15. How can mating affect the development of new species?

16. Read this article abstract (http://www.pnas.org/content/98/10/5683.full) and give a hypothetical scenario as to how a genetic mutation that causes a change in the shape of the male bed bug genitalia could cause reproductive isolation.

17. What is the example we talked about in class that is an example of offspring sterility (hint: it can really pull a plow)?

18. What was the allopatry that began the fruit fly speciation event?

19. What caused the 2 fruit fly populations to diverge genetically?

20. What did the fruit fly food preference cause?

21. Look at the diagram of the spotted owl population and notice the scientific name of each? Why do you think there are 3 words in the scientific name instead of 2?

22. Look at the fruit flies in the diagram used to explain Diane Dodd’s fruit fly experiment. What differences in the 2 resulting fruit fly populations could have caused each to prefer their own kind (the answer to this question is not in the text but think about mating preferences)?

23. On a separate sheet of paper, sketch a scenario in which a population of animal, plant or bacteria undergoes a speciation event. You MUST SHOW/INDICATE at least 1 barrier to gene flow (reproductive isolation (mating location/time/rituals or offspring inviability/sterility) or geographic isolation).

